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Indices - Lesson 2
Indices - Powers of Powers
LT

e Know how to work out powers of powers.

e Simplify expressions using powers of powers.
SC

e Notation.
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Reminder on previous lesson

d 0 equals 1
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Powers of Powers

(10°)% = (10 x 10 x 10)°?
= 10 x 10 x 10 x 10 x 10 x 10

= 1000 000

(103)% = 10°

We thus have the 4™ Rule of Indices :

(am)n: amxn

(m, n are any numbers)
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Example 1
Simplify :

@ (2°)°

3x4
2

:212

(k) (3°)7°

3OX(—5)

(© (471)

4 (- 1) x (- 18)

d (6°)°

65X8
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Example 2
Simplify :
@ (2x*)°

= 25 x (x45

=32 x x%

=132x%

by (3y %)’

=37 x(y 7

© (2a°b*)°
— 25 X (03)5 X (b4)5

=32 xa®xb?®

_ 32015b20

(d) (3C—12x15w32)-4
_ 3—4 X (C-IZ)-4 X (x15)-4 X (w32)—4

— 3—4 X C48 X x—60 X w-128
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1 Simplify the following.

a 3% b 2} c (10%’° d @)* e (@)
2 Simplify the following.

a (3y)’ b (y*) c (ab**

d {,3[)4q‘2')3 e (2ru™®)? f (10u>v?2)?
3 Simplify the following.

(6% b 7" ¢ (@)
d ) e ()7 f (6a’b*)’
g (2x7y)* h (3a°7) i (Hy?P)
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Answers
1 a 3% 2 a 9 3 a 67
b 212 b _x15‘.-20 b 228
C 1015 C a4b12 C 1'130
12 12 6 21 _ 1
d 1‘21 d 27p?q § d ¢ =
e a e 161‘1‘11_8:16; e 0
u .
f 11,0000 "y = 100 f  36a%°
[T 20
12,20 _ 16y
g8 l6x 'y = G
b15
; ru},—ezg
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